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Pose et calcule ces opérations puis vérifie tes résultats à l’aide d’une calculatrice. 

Opérations 

Calculatrice 

31 004 – 2 054 = 62 001 – 59 017 = 

2 014 – 719 = 90 000 – 11 902 = 

3 028  203 = 9 008  4 000 = 

2 008  5 005 = 4 003  606 = 

cas complexes 
v 

Pose et calcule ces opérations puis vérifie tes résultats à l’aide d’une calculatrice. 

Opérations 

Calculatrice 

31 004 – 2 054 = 62 001 – 59 017 = 

2 014 – 719 = 90 000 – 11 902 = 

3 028  203 = 9 008  4 000 = 

2 008  5 005 = 4 003  606 = 

cas complexes 

http://creativecommons.org/licenses/by-nc-sa/2.0/fr/
http://bdemauge.free.fr

